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EC-503 (B) (GS)
B.Tech., V Semester
Examination, November 2023
Grading System (GS)
Mobile Communication

Time : Three Hours
Maximum Marks : 70
Note: 1)  Attempt any five questions.
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i1} All questions carry equal marks.
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ii1) In case of any doubt or dispute the English version
question should be treated as final.
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1. a) Explain frequency reuse concept with the helplof proper
cellular diagram. Also draw a cellular system with 19-cell
reuse and locate the co-channel cells for this system.
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b) Illustrate the MAHO technique and Queuing concept :'En
hand off. Also explain the different types of handoff in

mobile communication.
Mmoﬁmmﬁmmmﬁmmﬁm|
WWﬁﬁﬁTﬂwaﬁﬁﬁﬁtﬁﬁﬁﬁﬁﬁﬁWI
PTO
EC-503 (B) (G

N

2

b

a) Explain foliage losses and propagation in near-in-distance.
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b) If the coherence bandwidth is calculated as 100 kHz in
the given radio channel of 900 MHz frequency, calculate

the maximum symbol rate that can be transmitted over

this channel that will suffer minimal intersymbol
interference.
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3. a) Explain Cell splitting and Concept of frequency channels.
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b) Elaborate dynamic channel assignment and compare its

advantages and disadvantages with the fixed channel
assignment.
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4. a) Explain GSM with thia help of proper network architecture

block diagram. Also give brief view of various Interface
standards in GSM.
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b) Explain frame structure.
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5.
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Describe forward and reverse CDMA channels,
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In 1S-95 CDMA, assume K = 20 users share the
same 1.25 MHz channel. The chip rate for each user is
1.2288 Mcps and cach user has a bascband data rate of
13 kbps. If a maximum E /N, of 7.8 dB is provided for
each user and the PN code lengths are 32,678 chips (2"),
find the bit error probability for a user. What is the
processing gain of [S-957
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Explain Clarke’s model of flat fading.
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With the help of block diagram describe the basic cellular
system and discuss its performance criteria.
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What is co-channel interference? What 1s the main reason
for it? How can be co-channel interference be reduced?
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b) Inamobile radio environment, for hilly terrain O.f height
H = 100 m, the average cell site antenna height is about
’ o antenna height is about 3m and the

bil
o aton m. Find the incident angle

communication path lengthis 3
d the slope angle.
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8. Write a short note on any two:

i) Trunking and grade of service

ii) [Free space propagation model
i) GSM traffic channel

iv) Mobile to Mobile propagation
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